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Xk The basic activities of an information system are:
a, Data retrieval, manipulation, sterage, and sorting
b. Processing, storage, sorting and distribution,
€. Input, storage, output and distribution.
d, Input, processing, output and feedback

. Mone of the above

L Comparing computer literacy with information systems (I5] literacy, which of the following statements is true?
a.  Computer literacy is 2 synonym of information systems literacy.
b.  Computer literacy requires accounting skills and behavioral science training.
e 15 literacy requires only technical knowledge about computers.
d. 15 literacy requires both technical knowledge about computers and behavioral knowlndge about arganizations.
& None of the above,

3. As compared to Korea, Japan, ad Hong Kong, insufficlent netwaorking capacity is the dimension of
business problems for developing digital convergence industry for Talwan.
a.  managerial
b.  organirational
3 people
d,  technological

& none of the above

4 Which of the following statements on "Data,” "Information,” and “Knowledge,” is falsa?
a. Data are streams of raw facts
b, Information is dats that have been processed into a meaningful form.
¢, Whether Taiwan government will allow beef products that contain leanness enhancers (@ 1) to be imported inta
Taiwan should be based on the data collected from bealthy assessment of beef consumers,
d Weaccumulate knowledge after applying information to solve international trade problems with foreign countries.
e, None of the above

5, Which af the following statements about business process fntegration and enterprise applications s false?
a. CRM is an enterprise application to manage relationship with suppliers and customers.
b. Knowledge management systems enable firms better manage thelr knowledge assets.
¢ AnERP system may change employers’ power over information,
d. Acompany's business pracess Is not a source of its core competence.
2, None of the above,
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E. The most appropriate wireless networking standard for creating an emergency network that allows Emergency Medical
Technician (EMT]  to transmit digitized medical data of the patient to a hospital emergency room when the ambulance |s

on the road :
a, iG
b Wihda,
£: WiFL

d. Bluetooth.
g, Nane of the above

7. Maost college students find their jobs from human resource websites (such as 104), but not from ads on newspapers or
state-owned recruitment resource ceaters . Which one of the following features of E-commerce has changed the way of
getting a job:

a. Disintermediation
b, Reintermediation
£ Micro-payment
d.  Cross sale

e,  MNone of the above,

& When you join and support the ant-Makiyo fan club on Facebook, you possibly are involved in the operation of

a.  Green Peace

b.  Social networking
[ Online Marketplace
d. Content provider

e Transaction broker

8, You download fancy Apps (each costs less than NT$50) via your smart phone, and later you mobile phone service provider
adds app charges onto your regular bill, What is the payment method of this kind of transaction?
a. Charge on transfer
b. Charge on delivery
c. Pre-paid Micro-payment
Post-paid Micro-payment
2. None of the above.

10. The Internet-based fashion brand Lativ — which had previously marketed itself as a made-in-Talwan (MIT] brand — recently
issued a statement on Its Web site on Feb, 7 stating "If you only purchase MIT products, then we sincerely suggest that you
do not place an order with us.” What problem Lative has from this statement T
a. System Integration
b.  Supply chain
c.  Enowledge management
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d.  Customer relationship management

e None of the above.

11. The Interniet-based fashion brand Lativ aisa stated that since 2010, it had maoved some of its production to China, Vietnam
and Indonesia. What s competitive strategy Lative uses for such a move?
a. Focused differentiation.
b. Low-tost producer.
¢, Marketing differentiation
d. Product differentiation
e, Quality differentiation.

12. Information technology can let managers easlly oversee a greater number of employees. That Is, using information
technology can reduce

a transaction costs.

b.  sarvice costs

C.  agency costs

d.  information retrieval costs.

B None of the abawe,

1%, Do you know that you can get Angry Birds on at least 25 different platforms? While it started on the iPhone, you can also
get it on the iPad, Android devices, Playstation 3, the MAC, a PC version, the list goes on. 50 what is the business model
behind Angry Birds?

a. Focused Differentiation.
b. Lost cost.

. Marketing Differentiathon
d. Channel Ubiguity

e, Entry barrier

14. A personalization technique used to provide recommendations based on purchases by customers with similar interests Is
called
a Clickstream Tracking.
b. Cloud Computing
. Collaborative fiitering
d. Crowdsourcing

15, Wikipedla allows anyone to edit materials on any topic in which he or she s [nterested. Thus Wikipedia is a success story of
web-hased
a.  Clickstream Tracking.
b.  Clowd Computing
¢.  Collaborative filtering
d.  Crowdsourcing
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16. A model of supply chain that is driven by actual customer orders or purchases;
a.  pull-based model.
b.  bulid-to-stock model.
t. push-based model.

d.  replenishment-driven model.

17, Someane feels he cannot keep up with the progress of new technology even he has subscribed and read a variety of
technological e-newletters and magazines. The man is possibly suffering
carpal tunnel syndrome

e
b, computer visicn syndrome

Repetitive Stress Injury
d. technostress

e, None of the above

1B Google will enforce on single privacy policy across many services it offered In March. This change has raised a lot of
attention about our
3. Accountablity and contral
b. Information rights
c. Intellectual property rights
d. Cuality of life
e, System guality

15, Comparing traditional goods to digital goods, which one 5 false?
. The copying cost of digital good is approximately 2ero.
b,  The delivery cost of digital goods is similar to that of traditional goods.
5 The marketing costs for digital and traditional goods remain variable.
The production cost of digital goods is almost its total cost.

20. Comparing digital markets to traditional markets, which one is false?
a Digital markets reduce infarmation asymmetry.
b.  Digital markets lower search costs,

Traditional markets allow Instant dynamic pricing.

Traditional markets have weaker network effect.

=

1. Which of the following statements about different types of information systems are true?
a.  TPS perform and record daily activities at the operational level,
b.  MIS serve the monitaring, contralling, and decision making of middie managers.
D55 support non-routine decision making and what-if analysis.
E55 help senior managers make strategic and long-term decisions,
e,  None of the above.
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Which of the following statements about intzilligent techniques are true?

a. Expert systems often capture knowledge of a specific expertise ina form of rules.
b. Furty logic tolerates impracision in solving problems

c. Genetic algorithms help find the best soluticn to a problem.

d. Intelligent agents are smart phones that help us solve difficult problems,

£ Meural networks emulate the processing patterns of the human brain,

Which statements about ERF |Enterprise Resource Planning) are true?

a ERF is built around thousands of predefined business processes that reflect best practices.

b.  ERP system is hased on a suite of integrated software modules and a commaon database.
o ERP systemn énables new Information to be spread firm-wide quickly.

d. ERP system allaws quick customization tailored to fit an organization’s business processes.

Which of the following statements about supply chain management (SCM) are true?
a. A company which adopts “sell what we made” strategy has a pull-based SCM
b.  Dell computer's build-to-order moded is an example of push-based SCM

¢ SCM helps reduce inventory, transportation and warehousing costs.

d.  SCM ties together all business units of a firm using a single system.

& SCM typically include activities of ptan, source, make, delivery, and return,

How the Internet changes the economics of information?
a. Reduce information asymmetry
b Increase rlchness

. Enable ubiguity

d. Increase Reach
8 None of the abave
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BEFHEST, Infrastructure as a Service (1aaS), Platform as a Service (PaaS), and Software as a Service (Saas). &
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